

SCIENCEDOMAIN international www.sciencedomain.org



Uniqueness of q-Difference Value on Sharing One

Liping Wang^{1*}, Jilong Zhang¹ and Qiuxia Zhao¹

¹Department of School of Mathematics and System Sciences, Beihang University, Beijing, 100191, P.R. China.

Article Information

DOI: 10.9734/BJMCS/2015/17907 <u>Editor(s):</u> (1) Jacek Dziok, Institute of Mathematics, University of Rzeszow, Poland. (2) Paul Bracken, Department of Mathematics, The University of Texas-Pan American Edinburg, TX 78539, USA. <u>Reviewers:</u> (1) Anonymous, Linyi University, China. (2) Fadugba S. E. Mathematical Sciences, Ekiti State University, Nigeria. (3) Ana Magnolia Marin Ramirez, Department of mathematics, University of Cartagena, Colombia. (4) Anonymous, South China Normal University, P. R. China. Complete Peer review History: <u>http://www.sciencedomain.org/review-history.php?iid=1145&id=6&aid=9522</u>

Original Research Article

Received: 30 March 2015 Accepted: 06 May 2015 Published: 30 May 2015

Abstract

In this paper, we investigate uniqueness problems of q-difference transcendental meromorphic functions with zero order sharing one value. We obtain some results on q-difference, which extend many previous results.

Keywords: Uniqueness; meromorphic functions; q-difference; share value; zero order.

2010 Mathematics Subject Classification: 30D35.

1 Introduction and Main Results

When investigating uniqueness problems of q-difference functions, we always use kind of function, which is meromorphic in the whole complex plane except at possible poles. In this paper, we define this as a meromorphic function. If no poles occur, it reduces to an entire function. Let q be non-zero complex constant in what follows, and q-difference of f (z) be defined by f (qz). We assume the reader is familiar with the standard notations and results such as the proximity function m(r, f), counting function N (r, f), characteristic function T (r, f), the elementary Nevanlinna theory, see, e.g., [1]. We denote by S(r, f) any quantity satisfying S(r, f) = o(T (r, f)), as $r \to \infty$ possibly outside a set of log logarithmic density 0.

We define that f, g are meromorphic and share a value a IM (ignoring multiplicities) if f-a and g-a have



^{*}Corresponding author: lpw2014@buaa.edu.cn;

the same zeros. While f - a and g - a have not only the same zeros but also the same multiplicities, we say that f and g share a CM (counting multiplicities).

In 1959, Hayman [2] proved that $f^n f'$ takes every non-zero complex value infinitely often if $n \ge 3$, when f is a transcendental meromorphic function, and n is a positive integer. In particular, he proved the following famous theorem.

Theorem A. If f is a transcendental meromorphic function, $n(\ge 5)$ is a positive integer, and $a(\ne 0)$ is a constant, then $f'(z) - af(z)^n$ takes every finite complex value b infinitely often. If f is a transcendental entire function, then $n \ge 3$ or $n \ge 2$, when b = 0 also holds.

Liu [3] considered the difference counterpart of Theorem A, and proved the following result.

Theorem B. If f is a transcendental meromorphic function with finite order, period is not c, and a is a non-zero constant, $n \ge 8$, then $f(z)^n + a(f(z+c)-f(z))-s(z)$ has infinitely many zeros.

In this paper, on the basis of theorems A and B, we study uniqueness problems of two q-difference polynomials sharing one value and obtain the following results.

Theorem 1.1. Let f and g be two transcendental meromorphic functions with zero order, a $\in C \setminus \{0\}$, $b \in C$, and let n be a positive integer satisfying $n \ge 26$. Assume that the functions

$$\phi_f := \frac{-af(qz) + b}{f^n} \quad \text{and} \quad \phi_g := \frac{-ag(qz) + b}{g^n} \tag{1.1}$$

Share the value 1 IM. Then

$$\phi_f = \phi_g \tag{1.2}$$

or

$$\boldsymbol{\phi}_f \cdot \boldsymbol{\phi}_g = 1 \tag{1.3}$$

Theorem 1.2. Let f and g be two transcendental entire functions with zero order, $a \in C \setminus \{0\}$, $b \in C$, and let n be a positive integer satisfying $n \ge 14$. Assume that the functions ϕ_f and ϕ_g defined as in (1.1) share the value 1 IM. Then (1.2) holds.

When considering the particularity of meromorphic functions, we have two relatively simple results as follows.

Theorem 1.3. Let f and g be two transcendental meromorphic functions with zero order, a $\in C \setminus \{0\}$, $b \in C$, and let n be a positive integer satisfying $n \ge 14$. Assume that the functions ϕ_f and ϕ_{σ} defined as in (1.1) share the value 1CM. Then (1.2) or (1.3) holds.

Theorem 1.4. Let f and g be two transcendental entire functions with zero order, $a \in C \setminus \{0\}$, $b \in C$, and let n be a positive integer satisfying $n \ge 8$. Assume that the functions ϕ_f and ϕ_g defined as in (1.1) share the value 1 CM. Then (1.2) holds.

2 Lemmas

In this section, we present some lemmas which play an important role in the following proofs. The following q-shift difference analogue of the logarithmic derivative lemma is very important when we consider ring q-shift difference polynomials.

Lemma 2.1 ([4], Theorem 2.1]). Let f(z) be a meromorphic function of zero order. Then

$$m(r, \frac{f(qz+c)}{f(z)}) = o(T(r, f))$$

On a set of logarithmic density 1.

The next two lemmas are essential in our proofs, which offer us the way to estimate the characteristic function and counting function of f(qz), see the theorems 1.1 and 1.3 in [5].

Lemma 2.2 Let f(z) be a nonconstant zero order meromorphic function, and $q \in C \setminus \{0\}$, Then

$$T(r, f(qz)) = T(r, f(z)) + S(r, f)$$

on a set of logarithmic density 1.

Lemma 2.3 Let f(z) be a nonconstant zero order meromorphic function, and $q \in C \setminus \{0\}$, Then

$$N(r, f(qz)) = (1 + o(1))N(r, f(z))$$

on a set of lower logarithmic density 1.

Now, we introduce some notations. Let F and G be two nonconstant meromorphic functions, $a \in C \cup \infty$. Suppose that z_0 is an a-point both of F of order p and of G of order q. We denote by $N_A(r, a)$ the counting function of the common a-point of F and G satisfying the condition A, where each point is counted once. For example, $N_{p=1=q}(r, a)$ denotes the counting function of those common simple a-point of F and G, as well as $N_{p>q}(r, a)$ of F and G with the orders p>q. Furthermore, separately defining $N_{p}(r, \frac{1}{F-a})$ and $N_{(p+1)}(r, \frac{1}{F-a})$ is the counting function of the zeros of F-a with the orders less than or equal to p and with the orders larger than p, in which each point is counted once. However, $N_p(r, \frac{1}{f-a})$ denotes the counting function of the zeros of f-a where m-fold zeros are counted m times if m \leq p and p times if m>p. Now we denote

$$N^{*}(r, a) = N_{(2}(r, \frac{1}{F-a}) + N_{(2}(r, \frac{1}{G-a}) - N_{p>1,q>1}(r, a) \ge 0$$
(2.1)

The auxiliary function H in the following lemma plays an important role on solving two meromorphic functions, which share one finite value.

Lemma 2.4 ([6], Theorem 3]). Let

$$H = \left(\frac{F''}{F'} - \frac{2F'}{F-1}\right) - \left(\frac{G''}{G'} - \frac{2G'}{G-1}\right)$$
(2.2)

where F and G are two nonconstant meromorphic functions. If $H \neq 0$, then

$$N_{p=1=q}(r,1) \leq N(r,H) + S(r,F) + S(r,G)$$

When considering two nonconstant meromorphic functions F, G that share at least one finite value IM, we could find the following lemma play a key role. The proof of the lemma in [7] is submitted, but for the convenience of readers, we list here again. In the original paper, S(r,F) denotes any quantity of S(r,F)=o(T(r,F)), as $r \to \infty$ possibly outside a set of finite linear measure. So it holds when S(r,F)=o(T(r,F)), as $r \to \infty$ possibly outside a set of logarithmic density 0.

Lemma 2.5 ([7]). Let F and G be two nonconstant meromorphic functions. If F and G share 1 IM, then one of the following three cases holds:

$$T(r, F) + T(r, G) \leq 3\{\overline{N}(r, 1 / F) + \overline{N}(r, 1 / G) + \overline{N}(r, F) + \overline{N}(r, G)\} + 2\{N_2(r, 1 / F) + N_2(r, 1 / G) + N_2(r, F) + N_2(r, G) - N_{p>1,q>1}(r, 0) - N_{p>1,q>1}(r, \infty)\} + S(r, F) + S(r, G);$$

$$(2.3)$$

(2) FG = 1

$$(3) F = G$$

where $N_2(r, 1 / F)$ denotes the counting function of zeros of F such that simple zeros are counted once and multiple zeros twice.

Proof. Let H be given as in (2.2). Then

$$N(r, H) \leq N^{*}(r, 0) + N^{*}(r, \infty) + N_{p>q}(r, 1) + N_{p
(2.4)$$

where $N_0(r, 1 / F')$ denotes the counting function corresponding to the zeros of F' which are not the zeros of F and F-1, and correspondingly for G'. From Lemma 2.4 and (2.4), if $H \neq 0$, we have

$$\overline{N}\left(r, \frac{1}{F-1}\right) + \overline{N}\left(r, \frac{1}{G-1}\right) \\ = 2N_{p=q=1}(r, 1) + 2N_{p>q}(r, 1) + 2N_{p>q}(r, 1) + 2N_{p=q>1}(r, 1)$$

$$\leq N_{p=q=1}(r,1) + N_{p>q}(r,1) + N(r,1/(G-1))$$

$$\leq N_{p=q=1}(r,1) + N_{p>q}(r,1) + T(r,G) + O(1)$$

$$\leq N^{*}(r,0) + N^{*}(r,\infty) + 2N_{p>q}(r,1) + N_{p

$$+ N_{0}(r,1/F') + N_{0}(r,1/G') + S(r,F) + S(r,G)$$$$

From the second fundamental theorem, we have

$$T(r, F) \leq \overline{N}(r, 1 / F) + \overline{N}(r, F) + \overline{N}(r, \frac{1}{F-1}) - N_0(r, F') + S(r, F),$$

$$T(r, G) \leq \overline{N}(r, 1 / G) + \overline{N}(r, G) + \overline{N}(r, \frac{1}{G-1}) - N_0(r, G') + S(r, G).$$

Firstly, noting that

$$N_{p>q}(r,1) \leq N(r, F / F') \leq N(r, F' / F) + S(r, F)$$

$$\leq \overline{N}(r,1 / F) + \overline{N}(r, F) + S(r, F) \qquad (2.5)$$

$$N_{p

$$\leq \overline{N}(r,1 / G) + \overline{N}(r, G) + S(r, G) \qquad (2.6)$$$$

Combining the above three inequalities with (2.5) and (2.6), we obtain

$$\begin{split} T(r, F) &+ T(r, G) \leq N_2(r, 1 / F) + N_2(r, 1 / G) - N_{p>1, q>1}(r, 0) + N_2(r, F) \\ &+ N_2(r, G) - N_{p>1, q>1}(r, \infty) + 2N_{p>q}(r, 1) + N_{p$$

Which

$$\begin{split} T(r, F) &\leq N_2(r, 1 / F) + N_2(r, 1 / G) - N_{p>1, q>1}(r, 0) + N_2(r, F) \\ &+ N_2(r, G) - N_{p>1, q>1}(r, \infty) + 2N_{p>q}(r, 1) + N_{p$$

Similarly,

$$\begin{split} T(r, G) &\leq N_2(r, 1 / F) + N_2(r, 1 / G) - N_{p>1, q>1}(r, 0) + N_2(r, F) \\ &+ N_2(r, G) - N_{p>1, q>1}(r, \infty) + N_{p>q}(r, 1) + 2N_{p$$

So we have

$$T(r, F) + T(r, G) \leq 2\{N_2(r, 1 / F) + N_2(r, 1 / G) - N_{p>1,q>1}(r, 0) + N_2(r, F) + N_2(r, G) - N_{p>1,q>1}(r, \infty)\} + 3\{N_{p>q}(r, 1) + N_{p

$$(2.7)$$$$

The conclusion (1) follows by inserting the last two inequalities into (2, 7).

If $H \neq 0$, by integration, we get from (2.2) that

$$\frac{1}{F-1} = \frac{A}{G-1} + B,$$
(2.8)

where $A(\neq 0)$ and B are constants. From (2.8) we have

$$F = \frac{(1+B)G + A - B - 1}{BG + A - B}, \quad G = \frac{(B-A)F + A - B - 1}{BF - (B+1)}$$
(2.9)

We discuss the following three cases.

Case 1. Suppose that $B \neq 0,-1$. If $B \neq A$, we get from (2.9) that $\overline{N}(r,1/\left(F - \frac{B+1}{B}\right)) = \overline{N}(r,G)$, $\overline{N}(r,1/\left(C + \frac{A-B}{B}\right)) = \overline{N}(r,E)$. Evaluation of the solution of the second second

$$N(r,1/(G + \underline{B})) = N(r,F).$$
 From the second fundamental theorem, we have

$$T(r,F) \le \overline{N}(r,1/F) + \overline{N}(r,F) + \overline{N}(r,1/(F - \frac{B+1}{B})) + S(r,F)$$

$$\le \overline{N}(r,1/F) + \overline{N}(r,F) + \overline{N}(r,G) + S(r,F)$$

and

$$T(r,G) \leq \overline{N}(r,1/G) + \overline{N}(r,G) + \overline{N}(r,1/\left(G + \frac{A-B}{B}\right)) + S(r,G)$$

$$\leq \overline{N}(r,1/G) + \overline{N}(r,G) + \overline{N}(r,F) + S(r,G)$$

Thus

$$T(r, F) + T(r, G) \le \overline{N}(r, 1 / F) + \overline{N}(r, 1 / G) + 2\overline{N}(r, F) + 2\overline{N}(r, G) + S(r, G) + S(r, F)$$

The conclusion (1) holds. If B=A, rewrite (2.9) as

$$F = \frac{(1+B)G - 1}{BG}, \quad G = \frac{-1}{BF - (B+1)}$$

Noting that
$$\overline{N}(r, 1/(F - \frac{B+1}{B})) = \overline{N}(r, G)$$
 and $\overline{N}(r, 1/(G - \frac{1}{B+1})) = \overline{N}(r, F)$

The conclusion (1) holds by the second fundamental theorem and the same arguments as above. **Case 2.** Suppose that B=0. From (2.9) we have

$$F = \frac{(G + A - 1)}{A}, \quad G = AF - (A - 1)$$
(2.10)

If $A \neq 1$, by (2.10), we obtain $\overline{N}(r, \frac{1}{G+A-1}) = \overline{N}(r, 1 / F)$ and $\overline{N}(r, \frac{1}{F-\frac{A-1}{A}})$

= $\overline{N}(r, 1 / G)$. The conclusion (1) follows again by the second fundamental theorem. If A=1, then F=G, which is the conclusion (3).

Case 3. Suppose that B=-1. (2.9) yields

$$F = \frac{(-A)}{G - A + B}, \quad G = \frac{(1+A)F - A}{F}$$
 (2.11)

If $A \neq -1$, we obtain the conclusion (1) by the same reasoning discussed in Case 2. If A=-1, we get FG=1 from (2.11).

The following corresponding result is about two meromorphic functions sharing 1 CM.

Lemma 2.6 ([8], Lemma [3]). Let F and G be two nonconstant meromorphic functions. If F and G share 1 CM, then one of the following three cases holds:

(1)
$$\max \{T(r, F), T(r, G)\} \le N_2(r, 1 / F) + N_2(r, 1 / G) + N_2(r, F) + N_2(r, G) + S(r, F) + S(r, G)\}$$

(2)
$$FG = 1;$$

$$(3) \quad F = G,$$

where $N_2(r, 1 / F)$ denotes the counting function of zeros of F such that simple zeros are counted once and multiple zeros twice.

3 Proofs of the Theorems

In this section, the proofs of our results are given.

Proof of Theorem 1.1. The first main theorem and Lemma 2.2 gives

$$nT(r, f) = T(r, 1 / f^{n}) + O(1)$$

$$\leq T\left(r, \frac{-af(qz)+b}{f^n}\right) + T\left(r, \frac{1}{-af(qz)+b}\right) + O(1)$$

$$\leq T(r, \phi_f) + T(r, f) + S(r, f),$$
(3.1)

and so

$$(n-1)T(r,f) \le T(r,\phi_f) + S(r,f)$$
(3.2)

Similarly,

$$(n-1)T(r,g) \le T(r,\phi_g) + S(r,g)$$
(3.3)

Then ϕ_f is nonconstant, so is ϕ_g . From the conditions of Theorem 1.1, we know that ϕ_f and ϕ_g share 1 IM. By (1.1) and Lemma 2.3, we get

$$N_2(r,1 \neq \phi_f) \leq N_2\left(r, \frac{1}{-af(qz) + b}\right) + 2\overline{N}(r, f),$$

and

$$N_{2}(r, \phi_{f}) \leq N(r, f(qz)) + 2\overline{N}(r, 1 / f) + S(r, f)$$

$$\leq N(r, f) + 2\overline{N}(r, 1 / f) + S(r, f)$$

Similarly, we get

$$N_2(r, 1 / \phi_g) \le N_2\left(r, \frac{1}{-ag(qz) + b}\right) + 2\overline{N}(r, g),$$
$$N_2(r, \phi_g) \le N(r, g) + 2\overline{N}(r, 1 / g) + S(r, g).$$

Suppose that (2.3) in Lemma 2.5 holds. The above two inequalities with Lemmas 2.2 and 2.3 yield

$$T(r, \phi_f) + T(r, \phi_g) \leq 3\{\overline{N}(r, 1 / \phi_f) + \overline{N}(r, \phi_f) + \overline{N}(r, 1 / \phi_g) + \overline{N}(r, \phi_g)\}$$

+
$$2\{N_2(r, 1 / \phi_f) + N_2(r, \phi_f) + N_2(r, 1 / \phi_g) + N_2(r, \phi_g)\}$$

+
$$S(r, \phi_f) + S(r, \phi_g)$$

$$\leq 3\{\overline{N}\left(r,\frac{1}{f(qz)-b/a}\right) + \overline{N}\left(r,\frac{1}{g(qz)-b/a}\right) + 2\overline{N}(r,g) + 2\overline{N}(r,f) + \overline{N}(r,1/g) + \overline{N}(r,1/f)\} + 2\{N_{2}\left(r,\frac{1}{f(qz)-b/a}\right) + N_{2}\left(r,\frac{1}{g(qz)-b/a}\right) + 2\{N_{2}\left(r,\frac{1}{f(qz)-b/a}\right) + N_{2}\left(r,\frac{1}{g(qz)-b/a}\right) + 2\overline{N}(r,g) + 2\overline{N}(r,f) + 2\overline{N}(r,1/f) + 2\overline{N}(r,1/f) + 2\overline{N}(r,1/g) + N(r,f) + N(r,g)\} \leq 24[T(r,f)+T(r,g)] + S(r,f) + S(r,g)$$
(3.4)

Combining (3.2) and (3.3) with the last inequality, we obtain

$$(n-25)[T(r, f) + T(r, g)] \le S(r, f) + S(r, g)$$

which is a contradiction since $n \ge 26$. Lemma 2.5 gives $\phi_f = \phi_g$ or $\phi_f \cdot \phi_g = 1$. Therefore, Theorem 1.1 is thus proved.

Proof of Theorem 1.2. Let ϕ_f and ϕ_g be defined as in (1.1). Suppose that (2.3) holds. By the same arguments as in the proof of Theorem 1.1, we note that f and g are entire functions and (3.2)- (3.4) turn out to be

$$(n-1)T(r, f) \leq T(r, \phi_f) + S(r, f),$$

$$(n-1)T(r, g) \leq T(r, \phi_g) + S(r, g),$$

And

$$T(r, \phi_f) + T(r, \phi_g) \le 12[T(r, f) + T(r, g)] + S(r, f) + S(r, g).$$

Combining the last three inequalities, we get

$$(n-13)[T(r, f) + T(r, g)] \leq S(r, f) + S(r, g)$$

which contradicting with $n \ge 14$. Then from Lemma 2.5, we have $\phi_f = \phi_g$ or $\phi_f \cdot \phi_g = 1$.

If $\phi_f = \phi_g$ holds, (1.2) follows by Lemma 2.5.

Next, we assume that $\phi_f \cdot \phi_g = 1$ holds. We know from (1.1) that

$$f^n g^n = \left(af(qz) - b\right)\left(ag(qz) - b\right)$$
(3.5)

We consider two cases in the following.

Case 1. If b=0. By the above equation, we get

$$f^n g^n = a^2 f(qz) g(qz)$$

,

Let fg=h. If h is not a constant, then by the above equation, we have

$$h^n = a^2 h(qz). aga{3.6}$$

Thus, from the first main theorem, we obtain

$$nT(r, h) = T(r, h^n) = T(r, ah(qz)) + O(1)$$

$$\leq T(r, h) + S(r, h)$$

Since $n \ge 2$, we know that h is a constant, i.e. fg is a constant, so f and g have no zeros. Hence, according to the Decomposition Theorem, we suppose that $f(z) = c_1 e^{p(z)}$, $g(z) = c_2 e^{-p(z)}$, where p(z) is a polynomial. Since that f and g are zero orders, then p(z) is a constant. Therefore, f is a constant, too, which is impossible.

Case 2. If $b \neq 0$. The equation (3.5) gives that

$$N(r,1 / f) + N(r,1 / g) = \frac{1}{n} N\left(r, \frac{1}{f(qz) - b / a}\right) + \frac{1}{n} N\left(r, \frac{1}{g(qz) - b / a}\right),$$

$$\overline{N}\left(r, \frac{1}{f(qz) - b / a}\right) + \overline{N}\left(r, \frac{1}{g(qz) - b / a}\right) \le 2\overline{N}\left(r, \frac{1}{f}\right) + 2\overline{N}\left(r, \frac{1}{g}\right),$$

and the second main theorem gives that

$$T(r, f(qz)) \leq \overline{N}\left(r, \frac{1}{f(qz)}\right) + \overline{N}\left(r, \frac{1}{f(qz) - b / a}\right) + S(r, f)$$

Similarly,

$$T(r, g(qz)) \leq \overline{N}\left(r, \frac{1}{g(qz)}\right) + \overline{N}\left(r, \frac{1}{g(qz) - b / a}\right) + S(r, g)$$

The above four inequalities and Lemma 2.2 provide us that

$$\begin{split} T(r, f) + T(r, g) &\leq \overline{N} \left(r, \frac{1}{f(qz)}\right) + \overline{N} \left(r, \frac{1}{f(qz) - b / a}\right) + S(r, f) \\ &+ \overline{N} \left(r, \frac{1}{g(qz)}\right) + \overline{N} \left(r, \frac{1}{g(qz) - b / a}\right) + S(r, g) \\ &\leq 3 \left(\overline{N} \left(r, \frac{1}{f}\right) + N \left(r, \frac{1}{g}\right)\right) + S(r, f) + S(r, g) \\ &\leq \frac{3}{n} \left(N \left(r, \frac{1}{f(z+c) - b / a}\right) + N \left(r, \frac{1}{g(z+c) - b / a}\right)\right) \\ &+ S(r, f) + S(r, g) \\ &\leq \frac{3}{n} \left(T(r, f) + T(r, g)\right) + S(r, f) + S(r, g), \end{split}$$

contradicting with $n \ge 14$. This completes the proof of Theorem 1.2.

Proof of Theorem 1.3. By the same arguments as in the proof of Theorem 1.1, noting that ϕ_f and ϕ_g share 1 CM, using Lemma 2.6 instead of Lemma 2.5, (3.4) turns out to be

$$T(r, \phi_{f}) \leq N_{2}(r, 1 / \phi_{f}) + N_{2}(r, \phi_{f}) + N_{2}(r, 1 / \phi_{g}) + N_{2}(r, \phi_{g}) + S(r, \phi_{f}) + S(r, \phi_{g}) \leq N_{2}\left(r, \frac{1}{-af(qz) + b}\right) + 2\overline{N}(r, f) + N_{2}\left(r, \frac{1}{-ag(qz) + b}\right) + 2\overline{N}(r, 1 / f) + N(r, f) + 2\overline{N}(r, g) + N(r, g) + 2\overline{N}(r, 1 / g) + S(r, f) + S(r, g) \leq 6[T(r, f) + T(r, g)] + S(r, f) + S(r, g)$$
(3.7)

Similarly,

$$T(r, \phi_g) \le 6[T(r, f) + T(r, g)] + S(r, f) + S(r, g)$$

Combining the above two inequalities with (3.2), (3.3), we get

$$(n-13)[T(r, f) + T(r, g)] \le S(r, f) + S(r, g)$$

Which is a contradiction since $n \ge 14$. Lemma 2.6 gives $\phi_f = \phi_g$ or $\phi_f \cdot \phi_g = 1$. Therefore, Theorem 1.3 is thus proved.

Proof of Theorem 1.4. Let ϕ_f and ϕ_g be defined as in (1.1). By the same arguments as in the proof of Theorem 1.1, noting that f and g are entire functions, (3.7) becomes

$$T(r, \phi_f) \le 3[T(r, f) + T(r, g)] + S(r, f) + S(r, g)$$

We insert the above inequality into (3.2), resulting in

$$(n-1)T(r, f) \le 3[T(r, f) + T(r, g)] + S(r, f) + S(r, g)$$

The same inequality holds for T(r,g), then

$$(n-7)[T(r, f) + T(r, g)] \leq S(r, f) + S(r, g)$$

which contradicting with $n \ge 8$. Then from Lemma 2.4, we have $\phi_f = \phi_g$ or $\phi_f \cdot \phi_g = 1$, which means that (1.2) or (1.3) holds.

The following proof is similar with that of proof of Theorem 1.2, we omit it here.

4 Conclusion

In this paper, we introduce uniqueness problems of two q-difference polynomials sharing one value and obtain four results. They will be very useful for us to solve this kind functions.

Acknowledgement

This research was supported by the NNSF of China (No. 11201014, 11171013 and 11126036), and the YWF-14-SXXY-008 of Beihang University. This research was also supported by the youth talent program of Beijing No. 29201443.

Competing Interests

Authors have declared that no competing interests exist.

References

- [1] Hayman WK. Meromorphic functions. Clarendon Press, Oxford; 1964.
- [2] Hayman WK. Picard values of meromorphic functions and their derivatives. Ann. of Math. 1959;70:9-42.
- [3] Liu K. Zeros of difference polynomials of meromorphic functions. Proc. Indian Acad. Sci (Math. Sci). 2011;121(3):301-310.
- [4] Liu K, Qi XG. Meromorphic solutions of q-shift difference equations. Ann. Pol. Math. 2011;355; 101(3):215-225.
- [5] Zhang JL, Korhonen R. On the Nevanlinna characteristic of f(qz) and its applications. J. Math. Anal. Appl. 2010;369:537-544.
- [6] Yi HX. Uniqueness theorems of meromorphic functions whose n-th derivatives share the same 1points. Complex Var. Theory Appl. 1997;34:421-436.
- [7] Zhang JL. Share values of differential polynomials. Submitted (Unpublishable).
- [8] Yang CC, Hua XH. Uniqueness and value-sharing of meromorphic functions. Ann. Acad. Sci. Fenn. Math. 1997;22(2):395-406.

^{© 2015} Wang et al.; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history: The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar) www.sciencedomain.org/review-history.php?iid=1145&id=6&aid=9522